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1. Acid rains occurs due to : 
 

1. vEyh; o”kkZ ds dkj.k gSa % 

(A) 3O  and 2CO    (A) 3O  ,oa 2CO   

(B)  CO and SO3  (B) CO  ,oa 3SO   

(C)  SO2 and NO2  (C) 2SO  ,oa 2NO   

(D)  CO2 and NO3  (D) 2CO  ,oa 3NO   

2. Which is not a conventional source of  

energy ? 

 
2. fuEufyf[kr esa dkSu ÅtkZ dk ikjEifjd lzksr ugha  

gS \ 

(A) Wind energy  (A) iou ÅtkZ 

(B)  Solar energy  (B) lkSj ÅtkZ 

(C)  Hydel energy  (C) ty ÅtkZ 

(D)  Nuclear energy  (D) ukfHkdh; ÅtkZ 

3. Cold desert in India occurs at : 
 

3. BaMs e#LFky Hkkjr esa ik;s tkrs gSa % 

(A) Thar  (A) Fkkj esa 

(B)  Assam  (B) vle esa 

(C)  Rajasthan  (C) jktLFkku esa 

(D)  Ladakh  (D) yn~nk[k esa 

4. Noise is harmful to hearing at the level of : 
 

4. fuEufyf[kr Lrj /ofu lquus ds izfr gkfudkjd gS % 

(A) > 70 dB  (A) > 70 dB 

(B)  < 80 dB  (B)  < 80 dB 

(C)  > 80 dB  (C)  > 80 dB 

(D)  > 60 dB  (D)  > 60 dB 

5. Silicosis is caused by : 
 

5. flfydksfll gksrh gS % 

(A) Rocky dust  (A) pêkuh /kwy }kjk 

(B)  Sandy soil  (B) jsrhyh eǹk }kjk 

(C)  Coal dust  (C) dks;ys dh /kwy }kjk 

(D)  All of the above  (D) mi;qZDr lHkh 

6. Difference between intensity of earthquake  

3 and 6 is : 

 
6. HkwdEi ds 3 vkSj 6 dh rhozrk ds chp vUrj gS % 

(A) 1000 times  (A) 1000 xquk 

(B)  300 times  (B) 300 xquk 

(C)  200 times  (C) 200 xquk 

(D)  Cannot be measured  (D) ekih ugha tk ldrh 
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7. Tehri dam is constructed on the river : 
 

7. fVgjh ck¡/k fdl unh ij cuk;k x;k gS \ 

(A) Alaknanda  (A) vyduUnk 

(B)  Gangotri  (B) xaxks=h 

(C)  Bhagirathi  (C) HkkxhjFkh 

(D)  Mandakini  (D) eUnkfduh 

8. In an ecosystem energy flow is : 
 

8. ikfjfLFkfrd rU= esa ÅtkZ dk izokg gksrk gS % 

(A) Unidirectional  (A) ,dfn’kh; 

(B)  Bidirectional  (B) f}fn’kh; 

(C)  Multidirectional  (C) cgqfn’kh; 

(D)  All of the above  (D) mi;qZDr lHkh 

9. Asian Lions are generally found in : 
 

9. ,f’k;u ‘ksj lkekU;r;k ik;s tkrs gSa % 

(A) Sunderban  (A) lqUnjcu esa 

(B)  Rajaji National Park  (B) jktkth jk”Vªh; m|ku esa 

(C)  Gir National Park  (C) fxj jk”Vªh; m|ku esa 

(D)  Dudhwa National Park  (D) nq/kok jk”Vªh; m|ku esa 

10. The main threat to biodiversity in India is : 
 

10. Hkkjr esa tSofofo/krk dks lcls cM+k [krjk gS % 

(A) Landslide  (A) HkwfedVko ls 

(B)  Forest fire  (B) ouksa dh vkx ls 

(C)  Pollution  (C) iznw”k.k ls 

(D)  Habitat loss  (D) vkoklh; {k; ls 

11. From which tree Katha is obtained ? 
 

11. fdl isM+ ls dRFkk izkIr gksrk gS \ 

(A) Khair  (A) [kSj  

(B)  Kachnar  (B) dpukj  

(C)  Neem  (C) uhe  

(D)  Jatropa  (D) tSVªksik  

12. Maximum biomass is produced in : 
 

12. lokZf/kd tSoHkkj iSnk gksrk gS % 

(A) Grasslands  (A) ?kkl ds eSnku esa 

(B)  Tropical Rain Forest  (B) m”.kdfVca/kh; o”kkZ ou esa 

(C)  Cultivated crops  (C) [ksrksa dh Qlyksa esa 

(D)  Oceans  (D) egklkxj esa 
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13. Stratosphere contains the following important 

layer which protects life on earth : 

 
13. LVªsVksfLQ;j dh fuEu egRoiw.kZ ijr iF̀oh ij thou 

dks cpkrh gS % 

(A) Oxygen  (A) vkWDlhtu 

(B)  Ozone  (B) vkstksu 

(C)  Nitrogen  (C) ukbVªkstu 

(D)  Carbon dioxide  (D) dkcZu MkbvkWDlkbM 

14. The study of population is called : 
 

14. tula[;k v/;;u dgykrk gS % 

(A) Demography  (A) MSeksxzkQh 

(B)  Biogeography  (B) ck;ksft;ksxzkQh 

(C)  Topography  (C) VksiksxzkQh 

(D)  Biography  (D) ck;ksxzkQh 

15. Largest sized bird is : 
 

15. lcls cM+h fpfM+;k gS % 

(A) Peacock  (A) eksj 

(B)  Penguin  (B) isafXou 

(C)  Ostrich  (C) ‘kqrqjeqxZ 

(D)  Crane  (D) Øsu 

16. Which of the following pollutions causes 

flurosis disease ? 

 
16. fuEufyf[kr esa ls dkSu&lk iznw”k.k ¶ywjksfll chekjh 

dk dkj.k gS \ 

(A) Air pollution  (A) ok;q iznw”k.k 

(B)  Water pollution  (B) ty iznw”k.k 

(C)  Noise pollution  (C) /ofu iznw”k.k 

(D)  Soil pollution  (D) Hkwfe iznw”k.k 

17. Which one of the following has lowest 

biodiversity ? 

 
17. fuEufyf[kr esa ls fdlesa lcls de tSofofo/krk gS \ 

(A) Desert  (A) jsfxLrku esa 

(B)  Ocean  (B) leqnz esa 

(C)  Lake  (C) >hy esa 

(D)  River  (D) unh esa 

18. Wildlife week falls in : 
 

18. oU;tho lIrkg gksrk gS % 

(A) October  (A) vDVwcj esa 

(B)  July  (B) tqykbZ esa 

(C)  September  (C) flrEcj esa 

(D)  March  (D) ekpZ esa 
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19. The concept of ecological pyramid was 

developed by : 

 
19. ikfjfLFkfrd fijkfeM dh ladYiuk fodflr dh Fkh % 

(A) Reiter  (A) jk;Vj us 

(B)  Elton  (B) ,YVu us 

(C)  Odum  (C) vksMe us 

(D)  Darwin  (D) MkfoZu us 

20. Chipko Movement is connected to : 
 

20. fpidks vkUnksyu lEcfU/kr gS % 

(A) Flood  (A) ck<+ ls 

(B)  Tribals  (B) tutkrh;ksa ls  

(C)  National disaster  (C) jk”Vªh; vkink ls 

(D)  Deforestation  (D) o{̀k dVku ls 

21. ‘Bombay High’ is associated with : 
 

21. ^ckEcs gkbZ* lEcfU/kr gS % 

(A) Solar energy  (A) lkSj ÅtkZ ls 

(B)  Petroleum  (B) isVªksfy;e ls 

(C)  Hydroelectricity  (C) tyfo|qr ls 

(D)  Water sports  (D) tyØhM+k ls 

22. The least porous soil is : 
 

22. U;wure fNfnzy e`nk gS % 

(A) Sandy loam  (A) jsrhyh nkseV 

(B)  Loamy soil  (B) nkseV e`nk 

(C)  Clayey soil  (C) fpduh e`nk 

(D)  Clayey silt  (D) fpduh flYV 

23. Renewable source of energy is : 
 

23. uO;dj.kh; ÅtkZ dk lzksr gS % 

(A) Coal  (A) dks;yk 

(B)  Petroleum  (B) isVªksy 

(C)  Kerosene  (C) feêh dk rsy 

(D)  Biomass  (D) thoHkkj 

24. Which of the following pyramids is always 

upright ? 

 
24. fuEufyf[kr esa ls dkSu&lk fijkfeM lnSo Å/oZ gksrk 

gS \ 

(A) Pyramid of biomass  (A) thoHkkj fijkfeM 

(B)  Pyramid of energy  (B) ÅtkZ dk fijkfeM 

(C)  Pyramid of numbers  (C) thola[;k fijkfeM 

(D)  All of these  (D) ;s lHkh 
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25. World Environmental Day is celebrated on : 
 

25. fo’o i;kZoj.k fnol euk;k tkrk gS % 

(A) 8 June  (A) 8 twu dks 

(B)  5 July  (B) 5 tqykbZ dks 

(C)  5 June  (C) 5 twu dks 

(D)  1 December  (D) 1 fnlEcj dks 

26. National Water Policy was implemented in 

the year : 

 
26. jk”Vªh; ty uhfr fdl o”kZ esa ykxw gqbZ \ 

(A) 2000  (A) 2000 esa 

(B)  1999  (B) 1999 esa 

(C)  2001  (C) 2001 esa 

(D)  2002  (D) 2002 esa 

27. The unit of measurement of noise is : 
 

27. /ofu eki dh bdkbZ gS % 

(A) Dobson  (A) Mkclu 

(B)  Decibel  (B) Msflcy 

(C)  Calorie  (C) dSyksjh 

(D)  Joule  (D) twy 

28. Govind wildlife sanctuary is located in : 
 

28. xksfoUn oU;tho vH;kj.; fLFkr gS % 

 (A) Uttarakhand  (A) mŸkjk[k.M esa 

(B)  Himachal Pradesh  (B) fgekpy izns’k esa 

(C)  Uttar Pradesh  (C) mŸkj izns’k esa 

(D)  None of the above  (D) mi;qZDr esa ls dksbZ ugha 

29. Interlinking of more than one food chains is 

called : 

 
29. ,d ls vf/kd [kk| Ükà[kyk ds ijLij lEc) gksus dks 

dgrs gSa % 

(A) Food groups  (A) [kk| lewg 

(B)  Trophic level  (B) iks”k.k Lrj 

(C)  Food chains  (C) [kk| Ük`a[kyk 

(D)  Food web  (D) [kk| tky 

30. Bhakhara Nangal Dam is located in : 
 

30. Hkk[kM+k ukaxy ck¡/k fLFkr gS % 

(A) Haryana  (A) gfj;k.kk esa 

(B)  Himachal Pradesh  (B) fgekpy izns’k esa 

(C)  Punjab  (C) iatkc esa 

(D)  None of the above  (D) mi;qZDr esa ls dksbZ ugha 
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31. How much CO2 presence is considered in the 

atmosphere  ? 

 
31. ok;qe.My esa dkcZu MkbvkWDlkbM dh mifLFkfr 

fdruh ekuh tkrh gS \ 

(A) 0.01%  (A) 0.01% 

(B)  0.02%  (B)  0.02% 

(C)  0.03%  (C)  0.03% 

(D)  0.04%  (D)  0.04% 

32. The first National Park of India is situated  

in : 

 
32. Hkkjr dk izFke jk”Vªh; m|ku fLFkr gS % 

(A) Assam  (A) vle esa 

(B)  Madhya Pradesh  (B) e/; izns’k esa 

(C)  Tamil Nadu  (C) rfeyukMq esa 

(D)  Uttarakhand  (D) mŸkjk[k.M esa 

33. The most famous Earth Summit is held in 

1992, was organized at : 

 
33. izfl) i`Foh lEesyu 1992 esa vk;ksftr fd;k x;k  

Fkk % 

(A) Helsinki  (A) gsyfladh esa 

(B)  Kyoto  (B) D;ksVks esa 

(C)  Rio-de Janeiro  (C) fj;ks&Mh tusfj;ks esa 

(D)  Johannesburg  (D) TkksgkUlcxZ esa 

34. Biodiversity means : 
 

34. tSofofo/krk dk rkRi;Z gS % 

(A) Genetical diversity  (A) vkuqoaf’kd fofo/krk 

(B)  Species diversity  (B) iztkfr fofo/krk 

(C)  Ecosystem diversity  (C) ikfjfLFkfrdh ra= fofo/krk 

(D)  All of the above  (D) mi;qZDr lHkh 

35. The seed oil of which plant species is being 

projected for use as a substitute for diesel ? 

 
35. fdl ikni izkfIr cht&rsy dks Mht+y ds fodYi ds 

:i esa izpkfjr fd;k tk jgk gS \ 

(A) Azadirachta indica  (A) ,tSMjSDVk bafMdk 

(B)  Ricinus communis  (B) fjflul dkWE;wful 

(C)  Jatropha curcus  (C) tSVªksQk djdl 

(D)  Cocos nucifera  (D) dksdl U;wlhQsjk 

36. One of the living fossil is : 
 

36. ,d thfor thok’e gS % 

(A) Taxus baccata  (A) VsDll cdkVk 

(B)  Ginkgo bioloba  (B) ftadks ckbyksck 

(C)  Abies pindrow  (C) ,oht+ fi.Mªks 

(D)  Juniperus species  (D) twfuisjl iztkfr 
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37. Which of the following is a source of 

Methane ? 

 
37. fuEufyf[kr esa ls dkSu&lk ehFksu dk lzksr gS \ 

(A) Wetlands  (A) vknzZ LFky 

(B)  Thermal Power Plants  (B) rkih; fo|qr la;a= 

(C)  Foam industry  (C) Qkse m|ksx 

(D)  Cement industry  (D) lhesaV m|ksx 

38. ‘Minamata disaster’ in Japan was caused by 

Pollution due to : 

 
38. tkiku esa ^feukekrk vkink* fdlds iznw”k.k ds dkj.k 

gqbZ Fkh \ 

(A) Lead  (A) lhlk ds 

(B)  Mercury  (B) ikjk ds 

(C)  Cadmium  (C) dSMfe;e ds 

(D)  Zinc  (D) ftad ds 

39. The earliest settlers on barren lands generally 

are : 

 
39. lkekU;r% Ålj Hkwfe ij loZizFke clus okyh  

iztkfr % 

(A) Diatoms  (A) MkbVkEl 

(B)  Lichens  (B) ykbdsUl 

(C)  Mosses  (C) Ekklsl 

(D)  Ferns  (D) QUlZ 

40. In visible light, white light breaks into seven 

different colours : 

 
40. nf̀”Vxkspj izdk’k esa] lQsn izdk’k lkr fofHkUu jaxksa esa 

fc[kjus dk Øe gS % 

(A) VBIGYOR  (A) VBIGYOR 

(B)  VIGBYOR  (B)  VIGBYOR 

(C)  VIBGYRO  (C)  VIBGYRO 

(D)  VIBGYOR  (D)  VIBGYOR 

41. In Nitrogen cycle, soil nitrates are 

transformed into free nitrogen by : 

 
41. u=tu pØ esa] eǹk ukbVªsV dk Lora= u=tu esa 

ifjorZu gksrk gS % 

(A) Nitrifying bacteria  (A) ukbfVªQkbax cSDVhfj;k }kjk 

(B)  Denitrifying bacteria  (B) foukbfVªQkbax cSDVhfj;k }kjk 

(C)  Ammonifying bacteria  (C) veksfuQkbax cSDVhfj;k }kjk 

(D)  Both (A) and (C)  (D) (A) vkSj (C) nksuksa 

42. Atmosphere consists of 79 per cent nitrogen 

and 21 per cent oxygen by : 

 
42. okrkoj.k esa 79 izfr’kr u=tu ,oa 21 izfr’kr 

vkWDlhtu gksrh gS % 

(A) Weight  (A) otu ls 

(B)  Density  (B) l?kurk ls 

(C)  Volume  (C) vk;ru ls 

(D)  All of the above  (D) mi;qZDr lHkh 
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43. The first Act of the major Environmental 

Protection Act to be promulgated in India 

was : 

 
43. i;kZoj.k laj{k.k vf/kfu;e ds vUrxZr vkSikfjd :i 

ls Hkkjr dk loZizFke vf/kfu;e Fkk % 

(A) Water Act  (A) ty vf/kfu;e 

(B)  Environmental Act  (B) i;kZoj.k vf/kfu;e 

(C)  Air Act  (C) ok;q vf/kfu;e 

(D)  Noise Pollution Act  (D) /ofu iznw”k.k vf/kfu;e 

44. The Forest (Conservation) Act extends to the 

whole of India except : 

 
44. ou ¼laj{k.k½ vf/kfu;e dk foLrkj lEiw.kZ Hkkjro”kZ esa 

gS flok; % 

(A) Uttar Pradesh  (A) mŸkj izns’k ds 

(B)  Karnataka  (B) dukZVd ds 

(C)  Jammu and Kashmir  (C) tEew ,oa d’ehj ds 

(D)  Haryana  (D) gfj;k.kk ds 

45. Maximum density of water is at : 
 

45. ikuh dk vR;f/kd ?kuRo gksrk gS % 

(A) 4° C  (A) 4°C ij 

(B)  0°C  (B) 0°C ij 

(C)  100°C  (C) 100°C ij  

(D)  272 °C  (D) 272°C ij  

46. Which of the following is not a fossil fuel ? 
 

46. fuEufyf[kr esa ls dkSu&lk thok’e b±/ku ugha  gS \ 

(A) Natural gas  (A) izkd`frd xSl 

(B)  Coal  (B) dks;yk 

(C)  Petrol  (C) isVªksy 

(D)  Uranium  (D) ;wjsfu;e 

47. In the atmosphere, the layer above the 

troposphere is : 

 
47. okrkoj.k esa] VªksiksfLQ;j ds Åij dh ijr gS % 

(A) Stratosphere  (A) LVªSVksfLQ;j 

(B)  Mesosphere  (B) ehtksfLQ;j 

(C)  Thermosphere  (C) FkeksZfLQ;j 

(D)  Exosphere  (D) ,sDlksfLQ;j 

48. Which of the following is an example of non-

renewable resources ? 

 
48. fuEufyf[kr esa ls dkSu&lk ,d vuohuhdj.k lalk/ku 

dk mnkgj.k gS \ 

(A) Wind  (A) gok 

(B)  Vegetation  (B) ouLifr 

(C)  Water  (C) ikuh 

(D)  Coal  (D) dks;yk 
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49. The Chairman of the National Disaster 

Management Authority is : 

 
49. jk”Vªh; vkink izcU/ku lfefr dk v/;{k gS % 

(A) Home Minister  (A) xg̀ea=h 

(B)  Vice-President  (B) mi&jk”Vªifr 

(C)  Prime Minister  (C) iz/kkuea=h 

(D)  Minister of Human Resource 

Development 
 (D) ekuo lalk/ku fodkl ea=h 

50. WWF stands for : 
 

50. MCY;w- MCY;w- ,Q- dk iw.kZ Øe gS % 

(A) World Wide Fund  (A) oYMZ okbM Q.M 

(B)  Women Wrestling Federation  (B) oksesu jsÇLyx QsMjs’ku 

(C)  World Wide Forest  (C) oYMZ okbM QkWjsLV 

(D)  World Wealth Federation  (D) oYMZ osYFk QsMjs’ku 

51. The most dangerous radioactive air pollutant 

is :  

 
51. lokZf/kd [krjukd jsfM;ks/kehZ ok;q iznw”k.k gS % 

(A) Ca-40  (A) Ca-40 

(B)  Thermal  (B) rkih; 

(C)  Sr-90  (C)  Sr-90 

(D)  Soil  (D) eǹk 

52. UV radiation causes : 
 

52. ijkcSaxuh fofdj.k dk dkjd gS % 

(A) Liver cancer  (A) ;d̀r dSalj 

(B)  Lung cancer  (B) QsQM+ksa dk dSalj 

(C)  Mouth cancer  (C) eq¡g dk dSalj 

(D)  Skin cancer  (D) Ropk dk dSalj 

53. Light energy is converted into chemical 

energy by : 

 
53. izdk’k ÅtkZ dk jklk;fud ÅtkZ esa :ikUrj.k 

fuEuor~ gksrk gS % 

(A) Electrolysis  (A) bysDVªksykbfll }kjk 

(B)  Photosynthesis  (B) izdk’kla’ys”k.k }kjk 

(C)  Respiration  (C) ‘olu }kjk 

(D)  Transpiration  (D) mRLOksnu }kjk 

54. Which of the following gases are responsible 

for global warming ? 

 
54. fuEufyf[kr esa ls dkSu&lh xSl oSf’od m”.krk ds 

fy, mŸkjnk;h gS \ 

(A) Oxygen only  (A) dsoy vkWDlhtu 

(B)  Carbon dioxide and Methane  (B) dkcZu MkbvkWDlkbM vkSj ehFksu 

(C)  Oxygen and Carbon dioxide  (C) vkWDlhtu vkSj dkcZu MkbvkWDlkbM 

(D)  Methane only  (D) dsoy ehFksu 
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55. The Air (Prevention and Control of Pollution) 

Act was enacted in : 

 
55. ok;q ¼fuokj.k ,oa iznw”k.k fu;U=.k½ vf/kfu;e ykxw 

gqvk % 

(A) 1971  (A) 1971 esa 

(B)  1991  (B) 1991 esa 

(C)  1981  (C) 1981 esa 

(D)  1982  (D) 1982 esa 

56. At present the world population is increasing 

at the rate of : 

 
56. orZeku esa fo’o tula[;k of̀) nj gS % 

(A) 2%  (A) 2% 

(B)  2.5%  (B)  2.5% 

(C)  2.25%  (C)  2.25% 

(D)  3%  (D)  3% 

57. AIDS Day is celebrated on : 
 

57. ,M~l fnol euk;k tkrk gS % 

(A) 1st November  (A) 1 uoEcj dks 

(B)  1st December  (B) 1 fnlEcj dks 

(C)  5th December  (C) 5 fnlEcj dks 

(D)  30th November  (D) 30 uoEcj dks 

58. Chernobyl disaster occurred due to : 
 

58. pjuksfcy nq?kZVuk dk dkj.k Fkk % 

(A) Nuclear reactor explosion  (A) ijek.kq la;a= foLQksV 

(B)  Poisonous gas leakage  (B) tgjhyh xSl dk fjlko 

(C)  Forest fire  (C) taxy dh vkx 

(D)  Earthquake  (D) HkwdEi 

59. Environmental Protection Act in India was 

enacted in : 

 
59. Hkkjr esa i;kZoj.k laj{k.k vf/kfu;e ykxw gqvk % 

(A) 1974  (A) 1974 esa 

(B)  1976  (B) 1976 esa 

(C)  1980  (C) 1980 esa 

(D)  1986  (D) 1986 esa 

60. CBD is : 
 

60. lh- ch- Mh- gS % 

(A) Convention of Biodiversity  (A) tSofofo/krk le>kSrk 

(B)  Convention of Biological Diversity  (B) tSfod fofo/krk lEk>kSrk 

(C)  Council of Biodiversity  (C) tSofofo/krk ifj”kn~ 

(D)  Conservation of Biological Diversity  (D) tSfod fofo/krk laj{k.k 



FES-10(B) ( 11 )  2017 

61. Smog is the  combination of :  
 

61. /kwedqgk ¼LekWx½ feJ.k gS % 

(A) Smoke and fog  (A) /kqvk¡ vkSj dksgjk dk 

(B)  Air and water  (B) ok;q vkSj ikuh dk 

(C)  Water and smoke  (C) ikuh vkSj /kqvk¡ dk 

(D)  None of the above  (D) mi;qZDr esa ls dksbZ ugha 

62. Radioactive element which has been found to 

have large reserves in India is :  

 
62. ,d jsfM;ks/kehZ rRo ftlds Hkkjro”kZ esa cM+s Hk.Mkj 

ik;s tkrs gSa % 

(A) Plutonium  (A) IywVksfu;e 

(B)  Radium  (B) jsfM;e 

(C)  Thorium  (C) Fkksfj;e 

(D)  Uranium  (D) ;wjsfu;e 

63. Biological Oxygen Demand (BOD)  

measures : 

 
63. tSfod vkWDlhtu vko’;drk ¼ch- vks- Mh-½ Kkr 

djkrh gS % 

(A) Air Pollution  (A) ok;q iznw”k.k 

(B)  Dissolved oxygen needed by microbes  (B) ?kqyh vkWDlhtu lw{ethoksa gsrq 

(C)  Industrial Pollution  (C) vkS|ksfxd iznw”k.k 

(D)  Soil Pollution  (D) eǹk iznw”k.k 

64. Soil salinity can be measured by : 
 

64. eǹk {kkfjrk dh eki dh tk ldrh gS % 

(A) Potometer  (A) iksVksehVj ls 

(B)  Porometer  (B) iksjksehVj ls 

(C)  Calorimeter  (C) dSyksjhehVj ls 

(D)  Conductivity meter  (D) daMfDVfoVh ehVj ls 

65. Ozone layer of atmosphere absorbs : 
 

65. ok;q esa mifLFkr vkstksu ijr vo’kksf”kr djrh gS % 

(A) Cosmic rays  (A) dkfLed fdj.kksa dks 

(B)  Infrared rays  (B) bUÝkjsM fdj.kksa dks 

(C)  Ultraviolet rays  (C) ijkcSaxuh fdj.kksa dks 

(D)  All radiations  (D) lHkh fofdj.kksa dks 

66. White revolution is related to : 
 

66. ‘osr ØkfUr lEcfU/kr gS % 

(A) House  (A) ?kjksa ls 

(B)  Fish production  (B) eRL; mRiknu ls 

(C)  Cotton production  (C) dikl mRiknu ls 

(D)  Milk production  (D) nqX/k mRiknu ls 
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67. The atmospheric UV radiations are absorbed 

in the zone called : 

 
67. okrkoj.kh; ijkcSaxuh fofdj.k dk vo’kks”k.k Hkkx 

dgykrk gS % 

(A) Troposphere  (A) VªksiksfLQ;j 

(B)  Stratosphere  (B) LVªSVksfLQ;j 

(C)  Mesosphere  (C) ehtksfLQ;j 

(D)  Thermosphere  (D) FkeksZfLQ;j 

68. The function of haemoglobin in body is : 
 

68. ‘kjhj esa gheksXyksfcu dk dk;Z gS % 

(A) Transport of Oxygen  (A) vkWDlhtu dk ifjogu 

(B)  Destruction of Bacteria  (B) thok.kq dks u”V djuk 

(C)  Prevention of Anaemia  (C) jDrkYirk dks jksduk 

(D)  Utilization of Iron  (D) ykSg dk mi;ksx 

69. Carbon dating is used to determine the age  

of : 

 
69. dkcZu MsfVax fuEu dh vk;q fu/kkZj.k gsrq iz;qDr gksrh 

gS % 

(A) Rocks  (A) pêkuksa dh 

(B)  Plants  (B) ikS/ks dh 

(C)  Fossils  (C) thok’e dh 

(D)  None of the above  (D) mi;qZDr esa ls dksbZ ugha 

70. Green house effect is due to the presence of : 
 

70. xzhu gkml izHkko fdlls izHkkfor gksrk gS % 

(A) Ozone layer in atmosphere  (A) okrkoj.k esa vkstksu ijr  

(B)  Moisture in atmosphere  (B) okrkoj.k esa ueh  

(C)  Increase in lead  (C) lhlk esa of̀) 

(D)  CO2 in atmosphere  (D) okrkoj.k esa dkcZu MkbvkWDlkbM  

  

 

 

 

 

 

 

 

 

     



                                                                                                 (Contd. on the last page/vU; funsZ’k vfUre i”̀B ij) 

Only for Rough Work 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



                                                                                                 (Contd. on the last page/vU; funsZ’k vfUre i”̀B ij) 

5. The candidate is advised to check up the test booklet and ensure that it contains all the 

pages. If there is any discrepancy, it should be reported immediately to the invigilator 

within 15 minutes of the start of examination so that the test booklet be changed. 

ijh{kkFkhZ dks ;g funsZ’k fn;k tkrk gS fd og ijh{kk iqfLrdk dks tk¡pdj ;g lqfuf’pr dj ys fd 

iqfLrdk esa iwjs i`”B gSaA ;fn dksbZ folaxfr gS rks ijh{kk ‘kq: gksus ds 15 feuV ds vUnj ifjizs{kd dks 

lwfpr djsa  ftlls ijh{kk iqfLrdk cnyh tk ldsA 

6. The candidate shall be careful in handling the question paper and in marking the answer  

on the answer-sheet. The second test booklet will not be given in any case. 

ijh{kkFkhZ ijh{kk iqfLrdk dk mi;ksx djus ,oa mŸkj&izi= dks Hkjus esa lko/kkuh cjrsaA fdlh Hkh fLFkfr esa 

nwljh ijh{kk iqfLrdk rFkk mŸkj&izi= iznku ugha fd;k tk;sxkA 

7. If any question is not attempted by you do not make any symbol in the concerned answer 

circle. 

;fn vkidks fdlh iz’u dk mŸkj ugha nsuk gS rks lEcfU/kr iz’u ds mŸkj ds lfdZy esa dksbZ fpà u cuk;saA 

8. From the given alternatives, the candidate has to select only one answer for each 

question. 

fn, x, fodYiksa esa ls ijh{kkFkhZ dks izR;sd iz’u ds mŸkj ds fy, dsoy ,d gh fodYi pquuk gSA 

9. The candidate has to fill the appropriate circle  on the answer-sheet. Only this answer-

sheet will be evaluated. 

ijh{kkFkhZ dks mŸkj&izi= ds lEcfU/kr lfdZy dks gh Hkjuk gSA dsoy mŸkj&izi= dk gh ewY;kadu fd;k 

tk;sxkA 

10. The candidate can do rough-work on the plain paper attached in the end. 

ijh{kkFkhZ jQ&dk;Z vUr esa yxs lkns dkxt ij dj ldrk gSA 

11. You are advised to answer the questions in the answer-sheet as you read them and do not 

spend time in reading all the questions first. 

vkidks ijke’kZ fn;k tkrk gS fd ijh{kk iqfLrdk ds lHkh iz’uksa dks i<+us esa viuk le; O;FkZ u djsaA iz’uksa 

ds i<+us ds lkFk&lkFk gh mŸkj&izi= esa mŸkj Hkh nsrs tk;saA 

 

 

 

 

 

 

 

 


